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SARDAR PATEL UNIVERSITY
B Com (CBCS) Examination, Semester - V
Tuesday, 12 July 2022
- 10.00 am to 12.00 pm
UB0SDCOMS2,27Advanced Accounting & Auditing - X

Note: (1) Attempt any Four of the following questions

Q.1

(2) Figures to the right indicate full marks to the questions concerned
(3) All questions carry equal marks
(4) Total marks: 70.

Following is the Balance sheet of Krishna Co. Ltd as on 31-12-2021:

Liabilities Rs. Assets Rs.

Equity Shatres of Rs. 10 2,00,000 | Land & Building 2,00,000
Each
10% Preference Shares of | 1,00,000 Machinery . 4,10,000
Rs. 10 each (-) Dep. 1,50,000 | 2,60,000
Share Premium 50,000 | Investments 50,000
General Reserve 1,00,000 | Stock 80,000
Profit & Loss Alc 95,000 | Debtors 88,000
10 % Debentures 15,000 | Cash Balance 1,22,000
Creditors 1,50,000
Bank Overdraft 60,000
Provision for Taxation 30,000

L 8,00,000 8,00,000

G
Yoiiey
RIS

oy Al s

It is decided as follows to ascertain the return on Capital Employed:
1. TLand and Building is to be valued at Rs. 2,60,000/-
2. The replacement price of Machinery is Rs. 5,10,000/-, while the
depreciation on that replacement price is Rs. 1,86,000/-.
3. Qutside business investments of Rs. 40,000/~ are included in
investments.
4. Stock includes obsolete stock of Rs. 2,000/-
5. Profit during the year is Rs. 2,25,000/-
During the vear, the following amounts are shown in.the Profit &

Loss Account:
1. Depreciation on Machinery is calculated at Rs. 46,000/-, but
depreciation on replacement value works out to be Rs. 57,000/~
2. TIncome on outside business Investment is Rs. 10,000/~
3. Loss on sale of Machinery - Rs.6,000
Bad debts returned - Rs.3,000
Interest on Bank Overdraft - Rs.3,600
Goodwill written off - Rs.5,000

(17.5)




You are required to calculate:
1. Gross Capital Employed & Net Capital Employed
2. Return on Capital Employed & Net Capital Employed

Q.2 Define Return on Capital Employed and explain its advantages and (17.5)
limitations in detail.

(17.5)
Q.3 The following figures are taken from the books of Prakash Ltd,
Rs. Rs.
Sales 30,80,000 | Advertisement 25,000 |
Purchase of Raw | 10,00,000 | Insurance 26,000
Material
Commission on Sales - 20,000 | Salary & Wages 7,80,000
Consumable Stores 25,000 | Postage Expenses 14,000
Packing Materials 10,000 | Travelling Expenses | 21,000
Stationery & Printing 10,000 | Fuel & Oil 9.000
Audit Fees 4,000 | Electricity 5,000
Rent & Taxes 16,000 | Carriage Outward 24,000
Managing Director’s 84,000 | Repairs of Plant & | 34,000
Remuneration machinery |
Interest on Loan Taken 78,000 | Depreciation 55,000 !
Staff Welfare Expenses 2,58,000 | Income Tax Paid 1,50,000
P F Contribution 1,60,000 | Dividend to| 70,000
Shareholders
Directors’ Fees 40,000
Opening Stock Closing Stock
Raw Materials 85,000 | Raw Materials 1,08,000
Finished Goods , 2,00,000 | Finished Goods 2,40,000
From the above information, you are required to prepare:
A. Value Added Statement
B. Statement of Distribution of Value Added
Q.4(A) Explain the utility of Value Added Statement. (1
(B) Distinguish Between: (6.5)

Profit and Loss Account and Value Added Statement




Q.5 The following information are available in the books of Asha Ltd.: (17.5)

Production (Units) . 1,50,0001
Sales (Units) 1,20,000
Sales Price (Per Unit) Rs.30
Direct Materials Rs. 4,25,000
Direct Labour Rs.6,30,000
Factory Overheads

Variable Rs.1,15,000
Fixed Rs.3,25,000
Selling and Distribution Overheads

Variable Rs.90,000
Fixed Rs.3,45,000

From the above information, calculate profit as per Marginal Costing
Method and Absorption Costing Method. Also explain the difference in
the profits as available under the two methods.

Q.6(A) From the following information of Mahesh Ltd., Prepare Income (09)
Statement under Absorption Costing Method:

Normal Production Capacity 60,000 Units
Variable Cost per unit Rs.16
Actual Production 70,000 Units
Sales : 60,000 Units
Selling Price per unit Rs. 25
Fixed Manufacturing Overheads Rs. 1,50,000 Or
Rs. 2.50 per unit at normal capacity ,
Other Fixed Expenses Rs. 2,52,000

(B) Distinguish between: (8.5)
© Marginal Costing Method and Absorption Costing Method

Q.7 Discuss the Scope of Environmental Accounting in detail. (17.5)
Q8 Write notes on:
(A) Utility of Environmental Accounting (1
(B) Procedure of Environmental Accounting (6.5)
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